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QUESTION 1

You gave the Procurement Catalog Administrator role to a buyer of the business unit "BU1" but when the buyer is trying
to define a catalog in "Select and define catalog”, the buyer is unable to find "BU1" in the "Procurement BU" list of
values.

Identify the reason for this. (Choose two.)

A. The "Local Catalog administrator BU1" data role is not assigned to the buyer.

B. The "Procurement Catalog Administrator BU1" data role is not assigned to the buyer.

C. The "Manage Catalog content" action is not enabled for the buyer in the Procurement Agent page.

D. The "Catalog Management" business function is not enabled for BU1.

Correct Answer: AD

QUESTION 2

During a Procurement Contract implementation, a customer would like to set up approvals for procurement contract
documents. The customer has four departments and any contract needs to be approved by all the four department
users.

Identify the configuration to fulfill this requirement.

A. Set up one approval group and include the four department users with voting regime as consensus.

B. Set up one approval group and include the four department users with voting regime as first responder wins.

C. Set up employee supervisor hierarchy for all four department users and add them to an approval group.

D. Set up user group for the four departments and set up individual rules for the four department users.

Correct Answer: A

QUESTION 3

During implementation, the transformation maps that are associated with external-facing interfaces must be modified to
map the

A. enterprise business object attributes to the fulfillment order line

B. extensible flexfield attributes to the enterprise business object attributes
C. extensible flexfield attributes to the fulfillment order line

D. fulfillment order line to the extensible flexfield attributes

Correct Answer: B
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QUESTION 4

Identify two correct statements about Local area and Contextual areas in the common Ul Shell. (Choose two.)
A. Local area can drive the contents of the regional area and the contextual area.

B. Contextual area can drive the contents of the local area.

C. Contextual area provides quick access to tools that support business process.

D. Local area includes components that directly affect the Contextual area.

E. Local area is the main work area and typically contains the transaction form.

Correct Answer: DE

QUESTION 5

When creating a non-catalog requisition, a requester checks the "New Supplier\\' checkbox. By checking this checkbox,
the user is .

A. required to execute an ESS (Enterprise Scheduler Service) job to initiate the supplier registration process
B. suggesting a possible new supplier that requires further action by the Buyer and the Supplier Administrator
C. triggering an automated process to create a new supplier

D. triggering an automated process to intimate a new supplier to register with the user\\'s company

Correct Answer: A
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